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Inclusive jets, 500 < p* < 600 [GeV]

L\ T T ‘ T T ‘ T T ‘ T T ‘ T T ‘ T T ‘ 3
0'45 = -
e ata =
: + —+ D E
-4 = 4 N — Sherpa 2 (cluster)
0.35 |- _— — — = Sherpa 2 (lund) =
0.3 = - = — Herwig AO (cluster)
= - — — == Herwig AO (string) 3
0.25 — - _ —
oz b N E
015 4 = E
0.1 — -1 =
C - - =1 3
0.05 —0—: I -
0 ! } } } ‘ I I ‘ N I N — Yo, | ‘ ‘E
‘ T T ‘ T T =g T T l ‘\ IR L ‘ E
1.4 =
1.3 | 17 =
1.2 J =
1 = E
0 = AEEE [ E
0.8 - =
07 = []-- ==fiE
8:% eyl RN NSNS BRI S i (N E
0 10 20 30 40 50 60

=z
=



